Definition of the e^x **function**

 $f(x) = \ln x$ is a one-to-one function because



Since $f(x) = \ln x$ is a one-to-one function, it is <u>invertible</u> and has an <u>inverse</u> function

We will define this inverse function to be $f^{-1}(x) = e^x$ where e is Euler's constant. $\int_{\alpha s} \frac{1}{2} e^x dx$

By definition, we have the inverse relationship: If f and f^{-1} are inverse functions, then

$$f(x) = y \Leftrightarrow x = f^{-1}(y)$$

$$f(x) = y \Leftrightarrow x = f^{-1}(y)$$

$$f(x) = y \Leftrightarrow x = e^{y}$$



Inverse Function Cancellation properties:

$$f^{-1}(f(x)) = x \text{ for } x \text{ in the domain of } f \text{ and } f(f^{-1}(x)) = x \text{ for } x \text{ in the domain of } f^{-1}$$

$$\int_{x}^{y \text{ in ner}} e^{\ln x} = x \text{ for } x \ge 0 \text{ and } \ln e^x = x \text{ for } x \in \mathbb{R}$$

$$\ln e^x = x \text{ for } x \in \mathbb{R}$$

$$E_{x \text{ comples:}} \ln e^3 = 3$$

$$e^{\ln 10} = 10$$



<u>Limits</u>

Evaluate the following limits.



2)
$$\lim_{x \to \infty} \frac{e^{3x}}{e^{3x} + 1}$$

|iΜ γ→∞

(This limit gives an indeterminate form of

(e³*+1

8 8

$$\lim_{\substack{\chi \to \infty}} \frac{(3\pi^2 + 5\pi)/\pi^2}{(6\pi^2 - 4)/\pi^2} \lim_{\substack{\chi \to \infty}} \frac{3 + \frac{2}{7} o}{6 - \frac{4}{7} c} = \frac{3}{6} = \frac{1}{2}$$

. How do we deal with such forms?)

$$= \lim_{\substack{7 \to \infty \\ 7 \to \infty}} \frac{1}{1 + \frac{1}{e^{3x}}}$$

$$= \lim_{\substack{7 \to \infty \\ 1 \to e^{3x}}} \frac{1}{1 + e^{3x}} \circ \qquad \lim_{\substack{7 \to \infty \\ 7 \to \infty}} \frac{1}{e^{7}} = 0$$

$$= \frac{1}{1} \qquad \qquad \lim_{\substack{7 \to \infty \\ 7 \to \infty}} \frac{1}{e^{3x}} = 0$$

$$= 1$$

Laws of Exponents



Proof of (1) Product Law (try-for-yourself: make sure you can prove the other laws too) Given: $\underline{\gamma}$ and \underline{y} are real numbers (we want to try to prove $e^{x}e^{y} = e^{x+y}$) Brainstorm: USE $\ln product rule$ Using the Product Law for \ln , we can write $\ln(e^{x}e^{y}) = \ln e^{x} + \ln e^{4x}$ Product rule for \ln $\int = x + y$ cancellation properties of inverse functions $\int \ln(e^{x}e^{y}) = \ln(e^{x+4y})$

Since
$$\ln is a \text{ one-to-one function}$$
,
 $e^{x}e^{ix} = e^{x+iy}$
 $Q, E.D.$

Derivative of e^x $\frac{d}{dx}(e^x) = e^x$

<u>Proof:</u>

Since $f(x) = \ln x$ is differentiable and the inverse of a differentiable function is also differentiable, therefore $f(x) = e^x$ is differentiable.

Let
$$y = e^x$$
 (Our goal is to find $\frac{dy}{dx}$)
Then by definition of inverse functions: $\ln y = \overline{x}$
Using implicit differentiation, we get: $\frac{d}{dx} l_{ny} = \frac{d}{dx} (x)$
 $\frac{dy}{dx} \cdot \frac{dy}{dy} = 1 \cdot \frac{y}{dx}$
 $\frac{dy}{dx} = y = e^x$
 $\therefore \frac{dy}{dx} = e^x$
 $Q. E. D.$

Chain Rule
$$\frac{d}{dx}(e^u) = e^u \cdot \frac{du}{dx}$$

In particular: $\frac{d}{dx}(e^{ax}) = ae^{ax}$ for a constant a For example, $\frac{d}{dx}(e^{-2x}) = -2e^{-2x}$

Example 3 Differentiate each function with respect to its independent variable. $e^{2} \cdot v'$

(a)
$$f(x) = e^{x \ln x}$$

 $\int c_{hain rule}$
 $\int (\pi) = e^{\pi \ln x} \cdot \frac{d}{dx} (\pi \ln x)$
 $= e^{\pi \ln x} \cdot (1 \cdot \ln x + \pi \cdot \frac{1}{\pi})$
 $= e^{\pi \ln x} \cdot (1 + \ln \pi)$
 $= e^{\pi \ln x} \cdot (1 + \ln \pi)$

(b)
$$g(t) = \sec^{3}(e^{t})$$

$$\frac{d}{dt} \sec^{3}(e^{t}) = 3\sec^{2}(e^{t}) \cdot \frac{d}{dt} [\sec(e^{t})]$$

$$= 3\sec^{2}(e^{t}) \sec(e^{t}) \tan(e^{t}) \cdot \frac{d}{dt} (e^{t})$$

$$= 3\sec^{2}(e^{t}) \sec(e^{t}) \tan(e^{t}) e^{t}$$

$$= 3\sec^{3}(e^{t}) \tan(e^{t}) e^{t}$$

$$\frac{|\operatorname{ntegral of } e^{x}}{|\operatorname{fe^{x} dx} = e^{x} + C} \quad \operatorname{or} \quad [e^{x} du = e^{x} + C]$$

$$\operatorname{In particular:} \quad \int e^{x} dx = \frac{1}{a} e^{x} + C \quad \operatorname{for a constant } a \quad (by using a u-substitution)$$

$$\operatorname{For example:} \quad \int e^{2x} dx = \frac{1}{5} e^{2x} + C \quad (e^{x} \int e^{5x} dx) \quad \frac{1}{4} e^{x} + 25\pi}{du + 54\pi}$$

$$\operatorname{For example:} \quad \int e^{2x} dx = \frac{1}{5} e^{2x} + C \quad (e^{x} \int e^{5x} dx) \quad \frac{1}{4} e^{x} + 25\pi}{du + 54\pi}$$

$$\operatorname{For example:} \quad \int e^{2x} dx = \frac{1}{5} e^{2x} + C \quad (e^{x} \int e^{5x} dx) \quad \frac{1}{4} e^{-5x} + C}{dx + 2} \int e^{5x} dx = \frac{1}{5} e^{5x} + C$$

$$= \int e^{x} (dx) = \frac{1}{5} e^{2x} + C \quad (e^{x} + e^{x}) = \frac{1}{5} e^{5x} + C \quad (e^{x} + e^{x})$$

Ξ